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10 REW "CALCULATION OF DESIBN FEE®

20 WIDTH 80:CLEAR

30 DIK H{5,7}

40 FOR 8=1 10 3

S0 FOR T=1 707

&0 READ H{S,T)

70 NEYXT T

80 NEXT §

90 CLS:COLOR 4

100 PRINT CORYIS,0) ;" SH5esbsbssbs i s ERSHRERREREFERER RIS RL"

110 PRINT CSR{15,1);"%  CALCULATION OF DESIGN FEE "

20 PRINT CSR(IS,2) ;" S8 8E bR RERERREREEERHRERRILERRREFHF"

130 PRINT CSR{7,4);"1. What kind of building did you design (1™3) 7*;:INPUT® * I T=VALUDS)

140 PRINT CSR(7,6};"2. #What kind of structure did you design (1~7) 733 INPUT® *J$d=VAL (1%}

{50 PRINT CSR{7, 8‘,"3. How many same type of buildings 2°;:INPUT® " NEN=VAL (N$)

140 PRINT CSR{7,10);"4. How much gross area of one building (82} 7*;:INPUT® * A¥:A=VAL (A$)

{70 1F ML, d)=0 THEN 7ﬂﬂ

189 PRINT CSR(? £2);"5. How such building cost per square meter (1000won/m2) ?";8(I,J)
190 COLOR 6:W=M(I,1)#A/1000:60T0 230

200 COLOR 4

210 PRINT CSR(7,1233"5. How much building cost per square meter (1000won/m2} 7";:INPUT® * Mé:M=VAL (M$)
220 ®=W#a/1000

730 COLOR I:PRINT CSR{12,18);"### JUST WAIT FOR A MOMENT DURING CALCULATION 117 ##e*
240 8=0

250 FOR S=1 TO ¥

250 8=Q+(1/5)

270 NEXT §

280 P=,75%0+ 2580

290 ON I BOTO 300,340,500,660,820

300 REM "CALCULATION TYPE ("
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310 IF B(5 THEN R=b.42:6070 980

320 IF H(=10 THEN R=5,92-0.128:60T0 980

330 IF W>10 THEN R=5.92:6070 980

340 RER "CALCULATION TYPE 2°

350 IF W(3 THEN R=8.335:86070 980

360 IF #<=10 THEN R=8.86-.102&H:G60T0 980

370 IF W(=15 THEM R=8.088-.104:8:6070 980

380 IF #(=20 THEN R=8.1-.052%4:6070 980

390 IF H(=30 THEM R=7,58-.026%H:6070 980

400 IF W<=50 THEN R=7.563-.023524:6070 980

410 IF #<=100 THEN R=7.32-.02063H:G0T0 980

420 IF W¢=200 THEN R=6.03-.0077+#:60T0 980

430 IF W{(=300 THEN R=4.99-.0025#§:G0T0 780

440 IF #(=500 THEN R=4.825-.00195#H:G6070 980

430 IF H¢=1000 THEN R=4.3-.0013:#:6070 980

460 IF W<{=2000 THEN R=3.32-0.00032#8:6070 780

470 IF W(=3000 THEN R=3.4-0.00026=H:507T0 980

480 IF H(3500 THEN R=3.44-0.00034%4:607T0 980

490 IF W>3500 THEN R=2.45:5070 980

300 REH °CALCULATION TYPE 3°

510 IF W( THEN R=9.12:6070 980

320 IF Wi{=10 THEN R=9.63-.102#4:5070 980

530 IF W(=13 THEN R=9.65-.1042H:607T0 980

340 IF ¥{(=20 THEN R=8.87-.002¢4:6070 980

350 IF W(=30 THEM R=8.33-.026%4:6070 980

360 IF H{=30 THEN R=8.32-.023%4:6070 980

370 IF W(=100 THEN R=8.11-.0208%H:60T0 780

380 IF H{(=700 THEN R=b.79-.0076%4:60T0 980

590 IF H(=300 THEN R=3.461-.00174: 5070 980

800 IF H{=500 THEN R=3.82-.0024#H:8070 980

610 IF H<{=1000 THEM R=5.27-.0013%4:6070 980

620 IF @(=2000 THEW #=4,28-0.00031#H:60T0 980

630 IF B=3000 THEN R=4.2-0.00027&§:6070 980

630 IF H(3G00 THEN R=4.35-0.00032#H:6070 980

650 IF WX3G00 THEN R=3.23:8070 980

b1 REH "CALCULATION TYPE 4°

670 IF H{3 THEN R=10.02:607T0 980

680 IF H<(=10 THEN R=10.46-.128%H:60T0 980

590 IF W{=13 THEN R=10.42-.10428:50T0 980

700 IF H{=20 THEN R=9.61-.03%{:60T0 980

710 IF B{=30 THEN R=9.13-.026%H:6070 980

720 IF H(=00 THEN R=9.13~.026%{:8070 980

730 IF #¢=100 THEN R=8.85-.0204#§:50T0 980

780 IF W(=200 THEN R=7.39-.0078%4:60T0 980

750 IF W(=300 THEN R=h.353-.0025%H:60TC 980

760 IF H(=000 THEN R=6.363-.00195%4:60T0 980

770 IF H(=1000 THEN R=6.03-,00128%W:6070 980

780 IF W{(=2000 THEM R=5.07-0.00032#4:G60T0 780

790 IF ¥¢=3000 THEM R=4.99-0.0002824:50T0 980
"800 IF W(3500 THEN R=5.05-0.0003%4:6070 980

B10 IF W>3500 THEN R=4 :6OTD 980

820 REH "CALCULATION TYPE 3°

830 IF H<3 THEN R=11.44:6070 980

840 IF W<=10 THEN R=11.83-.078%4:6070 980

BA0 IF Wi{=13 THEN R=12,33-.1282§:6070 980

860 IF W(=20 THEN R=11.19-.0523H:6070 980

B70 1F H{=30 THEN R=10.67-.026%H:507T0 980

880 IF H<{=30 THEN R=10.435-.0235%H:6070 98¢

890 IF W{=100 THEN R=10.41-.0206%H:6070 980

900 IF B{=200 THEN R=9.12-.00772§:6070 980

910 IF B<{=300 THEN R=8.1-.0026+H:60T0 980
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920 IF B(=300 THEN R=7.71-.0013:4:6070 980
930 IF W(=1000 THEN R=7.83-.00134#4:60T0 980
940 IF W(=2000 THEN R=4.71-0.00042%4 :G0TO 989
950 IF W(=3000 THEN R=6.21-0.00017%4 :60T0 980
960 IF H(3500 THEM R=b.45-0.0003# ;6070 980
970 IF WY3500 THEN R=5.55

980 F=H¥R%P#10000

990 PRINT CSR(12,18);"

1000 PRINT CSR{10,13};"°:COLOR A:fsFa.8:H=F%.3

1010 PRINT USING® 6. DESIGN FEE  ====z==== y B, BEE S50 488 WON®;FiPRINT

1020 PRINT USING” 7. DESIGN FEE # 0.8 =z===zzsz=asssz==s) #§ 8B4 488,388 WON®;G:PRINT

1030 PRINT USING" 8. DESIBN FEE # 0.3 me==sozcoszesss==c) B, §#8, 584,348 HON";H:PRINT

1040 W=W1000000;PRINT USING® 9, CONSTRUCTION FEE  s=======s======) §§ R4 586, %83 WON";H:PRINT
1030 PRINT USING® 10. RATID } #4.8% 1R :

1060 PRINT USINB" 11, 07584041/ 241734, . 417NV 40, 258N == #h.447P

1070 PRINT CSR(10,24);"Don't you want to print (¥/,)?%;:INPUT® *,B%:0=VAL (B}

1080 IF @$="Y"THEN 90 ELSE 1100
1090 DATA 69,81,0,0,0,0,0,81,98,105,111,119,134,0,87,105,111,119,125,138,0,116,134,138,150,0,0,0,0,0,0,0,0,0,0

1100 LHIDTH 132:LPRINT® FER R R R RN R LR R R R R R R R R AR
1110 LPRINT® ¥ CALCULATION OF DESIGN FEE £
1120 LPRINT® FEERFEEER RN E R R R R E R R E R R R F R R R AR R ST

1130 LPRINT USING® {. What kind of building did you design ({3} 7 #§";1

{140 LPRINT UGING® 2, What kind of structure did you design (17} 7 ##°;4

1150 LPRINT USING® 3. How many sase type of buildings ? "N

1160 LPRINT USING® 4, How euch gross area of one building ? §h4, 548 0250

1170 1F M{I,d)=0 THEN 1190

1180 H=H(I J)#1000:LPRINT USING" 5. How auch building cost per square seter 78,888 884 WON/a2";M:B0TO 1200
{190 H=Me1000:LPRINT USING" 5. How much building cost per square meter 748 4,484 WON/a2";H

1200 LPRINT USING® 6, DESIGN FEE v #, 08 B8, H88 HON";F

1210 LPRINT USING® 7. DESIGN FEE # 0.8 ====zssczzz======) 3k, 454,044, 444 WON™;6

1220 LPRINT USING® 8. DEGIGN FEE # 0,3 ==== Y BE HHE, BEE HER WON";H

1230 LPRINT USING" 9, CONSTRUCTION FEE  =s=======s=====) §§, 444,584, 44 HOR" ;W
1240 LPRINT USING® 10, RATIO b H.8 %R
1250 LPRINT USING" 11, Q.73 (1+{/2+1/3+,. +1/R) 40, 258N == LN |

1260 6OTO 90
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